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(x -X)2+ra(f< -R)2+2 a8 (% - % - X, +X)?

i= l

=Q+Q,+Q,

. QJOU)
=

i=1 j=1

S

(511)



QG=aa (x-X- XJ+X)2
i=1 j=1
St Q/r-1
* TS TR (s D 12
s Qlir-1
TS T 06 9 (519
I-|Ol HOZ
5.8
5.4 A A
A 5 i
a;(i 1 2 3 4 5) B 5 J

Bjd=1 2 3 4 5)
Hyy a;=a,=az=a,=az=0
Hy, by=b,=b;=b,=b;=0
(5.11)



=SS, - SS, - SS,(517)

[ 2
:_(?- a Xij)

IS i=1j=1

5.8 ( )
A ! §
Q, =S4 (%, - X)? -
i=1
B > s1
Q =ra (X, - X)?
i=1
r S
- (r-1(s1)
Qs :é. é (% - X - X; +X)?
i=1 j=1
s _ rs-1
Q=4 a (x;- x)°
i=1 j=1
F
A S=Q/r-1 F,=S1S
B §=Q/s-1 Fo =S /S
S =Q,/(r- Y(s- 1
5.9 ( )
X
B B, B; By Bs
Aq 6.5 1.8 3.6 3.7 7.6 4.64
A, 14.2 7.1 10.8 8.9 12.6 10.72
As 13.4 9.4 7.2 8.6 7.5 9.22
Ay 2.4 15 1.7 2.3 2.8 2.14
As 6.2 4.8 4.9 4.6 5.2 5.14
X 8.54 4.92 5.64 5.62 7.14 6.37
SS =A&(x - X)?=44x-CT (514)
i=1j=1 i=1j=1
I 1
SSA:Sa(&.-x)ZZEa(a x;)?- CT (515)
i= i=1 j=1
1
(516)



5.9

1
CT = - (1593)° = 101506

Ss =4 4 x

o

i=1j=1

=1344.25- 101506 = 329.19

1s s
S, =—a(a
A=Al

i=1 j=

°-CT

x;)? - CT

1

=1262.28 - 101506 = 247.22
1s 3
SS,=-a(ax)*-CT
5i=ti=1
=105756- 1015.06 = 42.50

K =555 -5
=32916- 247.22- 4250= 39.47

5.10
5.10
F
A ,=55,=247.22 4 S’61 81 F,=25.02
B Q,=5S5=42.50 4 210,63 Fs=4.03
5=55,=39.47 16 Sty 47
0=55,=329.19 24
a =0.05 Fo 0s(4 16) 3.01
a =0.01 Fo oi(4 16)=4.77
F\=25.02>F, 45(4,16)=3.01
a
0.01
F\=25.02>F, o;(4,16)=4.77
Fa=4.30>F, o, (4,16)=4.77
99
F
HOZ
5.5
8 5.11



5.11 ( %)

By ( ) By( 5%) B ( 8%)
Aq 59 70 66
A 63 74 70
Az 61 66 71
A i
a;(@=1 2 3) B
j b;(i=1,2,3)

(5.14) (5.17)

1
CT=3 (600)° = 40000
SS, =40200- 40000 = 200

1
SS, = 3 (38025 + 42849 + 39204) - 40000 = 26

1
S5 = 3 (33489 + 44100 + 42849) - 40000 = 146
SS,=200-26-146=28

5.12
5.12
F

A Q=SS,=26 2 Slz =Q,/2=13 Fp= S12/ 80‘2 =1.86
5 0,255,146 2 S_qp=13 | F=S/S=1043

Q3=5S,=28 4 s ~Q,14=7

Q=55;=200 8

a=0.05,

Fo 05(2,4)=6.94

F\=1.86<F, 45(2,4)=6.94
F;=10.43>F, 45(2,4)=6.94

P, 3.33 B+ B2 By



95%
§ 5.3.2

5.13

%., d
S;:$e+$A =54
fel =4+2=6
9
=— =3
=12
Fos(1,6) =599

54" 599
d=,|——— =424
P

70%x4 . 24%

[65.76%,74.24%]
S%,

65.76%

A

4

4 130

A B

A r s
r j=1 2 s)

Xiju(k 1 2

74.24%

50

rs

(518)

(5.19)

)A:B;



5.13

B
B, B, Bs
A X111 X111 X121 X121 Xis1 X1s1
Ay X211 X211 X210 X221 X251 1 Xos1
A M M M M
Ar Xr110 Xr11 X1 Xra21 Xrs1r Xrs1
2. X; A i J
A;B; €ijk AiB; k
Xijk
X = Xij + € (520)
=1 2 rj=1 2
k=1 2 I
_ 14
Xijzl_ka:-lxijk
(5.20)
Xij N(X, s?) Xij a1 2 roj=1
2 S)  Xijk Xij I €ijk N(O
s2)
A B A B
X;
1;: I
er_SSljazlxj Zaiaz‘ljazll?:lxijk
ls _
X.=—ax(i=1 2 r
Sj=1
I S
X,=-ax (=1 2 S)
li=1
a Al A;
a;=xX;.-x 1=1,2, ,r
i b j b;
bj=xX.;-X j=1,2, ,s



da =0 ab,=0
i=1 =1
X+ (X .- )_()+()_('i-)_()+()_(ij - X .- >_<-,-+>_<)
=X+a i+bj +(ab);

(520)
Xy =X+a; +b; +(ab); +e; (521
(521)
(@b), = (% - %)~ (R-%)- (X,-%)
=(X; - X)-a;- b,
(R i5-%) AiB; A,
a; B; B j (a B )ij A B
A B
Ax B (a B )jj Ai  Bj
A B
(aB)i; O (a@B);; O
& (ab), = & (ab), =
j=1 i=1
A B Ax B
Hyy a;=a,= =a,=0
Ho, by=b,= =b =0
Hi; (ab);;=0 i=1,2, ,r j=1,2, ,s
Q
Q= é1§1é (Xuk - X)2
oy

88 (% %)+ (%= %)+ (% - % R #R) + (X - %,)]2

(522)



Qs =14 és(Zj - K- R +R)
i=1j=1
r s |
Q4 =4da .a(Xijk - Xij)2
i=1j=1j=1
S Q/r-1
Fa=52 70, - 1) (523)
S _ Qls-1
R N TEEN 523
BT Q,/ryl- 1) (523
_iz_ Q;/(r- 1(s- 1
Fa = &= Q-1 (523)
Hoi Hoz Hos 5.14
5.14 ( )
g Q= 4(%-%)° )
° Q= rlz‘éls()‘(.j-)‘()2 s1
j=1
Ax B Q=14 &(X, - XX, +%) (-1)(s-)
i=1j=1
r s |
Q =&4&a(x,-X)> rs(I-1)
i=1j=1j=1 " !
r s |
Q=44 a(x - X)? rel-1
i=1j=1k=1
F
A SE=Q/r-1 F,=S2/S
B %2:()2/5_1 FB:S§/S§
Ax B S =Q/(r- )(s- 1) Fpo =S5/SE
S=Q,/r(l- 1)
5.6
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5.15 ( )

B
| I M1
13.20 15.00 16.10 17.30 18.00 17.00
14.40 15.60 13.70 14.30 14.50 15.70
A 14.00 13.60 16.30 17.10 17.10 16.10
2
A
a;(i=1 2 3) B
] B;G=1 2 3)
AxB (aB)i; A B
Hyy, aj;=a,=a;=0
Hos (ab);;=0 i=1,2,3 j=1,2,3
(5.22)
r s |
SS, =4 & a(xy - X)*
i=1j=1k=1
r s |
=4 aa )(ijzk -CT (5.26)
i=1j=1k=1
SS, =9 4(X - %)’
i=1
1r s |
=—34(&d ax)*-CT (527)
d iz j=1k=1
SS, =1l & (%.;- )°
j=1
1s 0}
=—a(aax,)-CT (529
9 j=1i=1k=1 !
r s |
SS,.=4aaa (Xij - X )?
i=1j=1k=1
I8 pos 1)
=adax;,-aal-(ax)’l (5.29)
i=1j=1k=1 * i=1j=1 | k=1 "
r S
SS, 5 =18 &(X;- X.-X.;+X)’
i=1j=1
i g1 2y L s » 1 1] 2
=a afr(ax)]- 7a(a ax) -—a(aax) +CT
i=j=1 | k=1 " di=1 j=1k=1 " rlj=1iz1k=1 "
=S§5-S5,- S5;- SS, (530)
1 15
CT=—(88 & x)*



$S,=4361.06-4324.5=36..56
$S,=4330.74-4324..5=6.24
$S,=4338.54-4324..5=14.04
$S,=4361.06-4355.7=5.36
SSy 5=SS7-SS,-SS5-5S,=10.92

5.16
a =0.05 Fo 0s(2 9)=4.26
Fo 05(4,9)=3.63
FA=5.24>F, ,5(2,9)=4.26
Fo=11.79>F, (5(2,9)=4.26
Fax 5=4.58>F, 05(4,9)=3.63
HOl HOZ H03 95
5.16
A Q,=S5,=6.24 3-1=2
B Q,=S53=14.04 3-1=2
Ax B Q3=SS, x =10.92 (3-1)(3-1)=4
Q4=SS,=5.36 3x 3x (2-1)=9
Q=55,=36.56 3x 3x 2-1=17
F
A S o310 F\=5.24
B S Fg=11.79
Ax B sszB Fax p=4.58
2
S: 20,5056
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4
1
1
367 3
294 16
661 19
2.
2 /
1327 1737 1529 1244
1161 1631 1503 1162
1113 1428 1245 1026
1201 1493 1297 1108
1246 1499 1332 1199
3. 3
3
1980 290.46 277.92 175.78 155.78 181.32
1981 350.67 297.77 204.41 179.53 225.14
1982 432.63 326.12 235.73 227.18 273.03
1983 519.48 411.69 298.07 275.78 294.20
1984 664.16 504.64 345.00 305.50 336.12
1985 775.08 564.55 385.23 358.32 360.41




§6.1
§6.1.1
1.
Y X Y X
Y
6.1
% X Y
Y 2.80+1.20X
2.80 1.20
Y X
2
3 6.40
6.40)
2.
X
6.1
6.2
Y X
6.2  X=4.0 /
(4.0 9.1) 6.2
6.3
% X
6.3 6.3
6.2

6.3

Y
X
6.1
5.20
(2 5.20) (3
5 8.80
Y
14
Y 9.1/
( 6.2)
16
6.2



6.2.5)
§6.1.2
Y X r
S(x- X)(y-VY
(= (x-X)(y-Y) 61)
Jsx- %)% Js(y- 9
Xy Y Xn (6.1)
r
Sxy - nxy
= AL 6.2)
\/sz - nx2- /Sy? - ny?
r X Y X
Y X Y 0 r 1
6.4(a) X Y X Y
X Y -1<r<0 6.4(b)
Y X Y
r= 6.4(c)
6.4 Y X
r=+1 Y X r=-1 Y X
Y X r=o
Y X
§6.1.3
r Y X
r +1 Y X
Y X 2
1
r P
r r
p =
gz -2 63
V1-71?
t t(n-2) r t t p =
a( a 0.05) n-2 t

ta /2
|t]® ta/2




|tl<ta/2

6.4 6.2

r=0.98 n 14 r t
t_rdn-Z__QQ&hA-Z
Ji-r?2 1- 0982

a =0.05 df 14-2 12

=17.2792

ty 05/2=2-2792
t 17.2792 t0.05/2 2.1788



§6.2

§6.2.1
1.
6.2
( )Y (
)X
Y=a+bX+e (6.4)
a B €
(6.4)
Y X n Yi Xi
Y;=a+bX;+e; i=1,2, ,n (6.5)
Y X (6.5)
) Y X
@ X
®3) e;(i=1,2, ,n) N(0,s?),
c _is? i=j
m&e“q)—%o in ]
i=12, ,n, j=12, ,n
2. (6.4) a B
Y X
a b (6.4)
Y=atbX+e (6.6)
a b a pB a
b Y X
e (6.5)
Y.=a+hXte, 6.7
§6.2.2
(6.6) a b
e;=Y;-(atbX;)
Se’ =min
a b a B Yﬁ a
bX;(i=1 2 n) Y X Y
X Y X b X



Ly ISy - S S
i Sk (SX)° (68)
la=y- bx
§6.2.3
Y X n a b
Y;=atbX;+e;
1 b B
b B 0 B =0
X Y X Y X
B#0 Y X
b t Y X
Hy B =0
H, B#0
b t
(=2 (69)
b Sb -
S, b
S, = /S2/S(x, - X)? S,
S =S(y,- $)2/n-2=Se/n- 2 ( (615))
al( a 0.05) df=n-2 t
ta/2
It |>ta/2
H,  a=0.05 B O 5 B#0
It,|£ta/2
Ho B CRY
|-|0
2 Y X
Y X F
Hy B =
H, B#0




%

Y

Yn

d

s

Yi

y
(yi_ﬁi)

6.5

S($-y)° /1

F= Sy-$°/n- 2 (6.10)
a ( a=0.05) df,=1 df,=n-2
Fa
F F,
FEF,
Cov(e;,€;)=0(1% J)
«C ) «(
)
D.w
O.w )
d=a (e -e.,)’ (6.12)
i=2
a (a=0.05 a =0.01) K
di du
d,<d<4-d,
0<d<d,
4-d,<d<4
D.w
Y ¥ a bX
(
Y1 y vi-y)
(ﬁi_y) Yi
€i
Yi-y=($-y)+(y-$) (6.12)

(6.12)
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S(y; - y)z = S(ﬁ - y)z + S(ﬁ - )$i)2 +2S($i - I, - ﬁ)
S(ﬁi - - ﬁ.) =0

S(y, - ¥)? = S($ - ¥)* + S($, - $)? (613
SST > (¥i-¥)? SSR > ($-y)*> SSE
( )Y (vi- $)? Y
SSR  SST
2 SSR S($| - y)2
- = 614
" TsST sy, -y (614
y;(i=1l 2 n) SSE=0 r’=1 X
Y SSR=0 r?=0 I 1
X Y
r2 [0 1]
r
r I
r b Irl 1
5 I r
Y i ¥. a bx

2
Sy n-2  n-2
ei
S(yi ')$i)2 \/SQZ
= = 1
Sy J n-2 n- 2 (6.19)
Y oX S, S
y Sy Y
Sy
6.5 6.1
Y X 6.1
6.6 6.6

68 b



6.1

1972 116.5 255.7 1980 146.8 330.0
1973 120.8 263.3 1981 149.6 340.2
1974 124.4 275.4 1982 153.0 350.7
1975 125.5 278.3 1983 158.2 367.3
1976 131.7 296.7 1984 163.2 381.3
1977 136.2 309.3 1985 170.5 406.5
1978 138.7 315.8 1986 178.2 430.8
1979 140.2 318.8 1987 185.9 451.5
6.6

$=27.9123+0.3524X

Dt

S’ 1757 Lo55
Y n-2 14
S, =4/S2/ S(x - X)? = 00055
t,=b/S,=64.2069
a=0.05 df=14  t €y, 05/,=2-1448
1,=64.2069>1, o5/,=2.1448
b
(2)F

SSR = S(§ -y)? =517378
SSE = S(y, - $)? =1757

517378/1
=g 1g = 412253
a=0.05 df=1 df,=14 F

Fo 05 (1,14)=4.60
F=4122.53>F, 4s(1,14)=4.60

F
F=t* F, ta/2 F t
(3)D.W (6.11) d
0.68 a=0.05 1 16 D.W
d;=1.10,d,=1.37

0<d=0.68<d;=1.10
D.W



4)

SSR 517378
2 — —
= 'SST ~b1g1as 0990
r? 1
(5) S, 1.2550
D.W
S
s? t F
@
(2)
3)
§ 6.2.4
Y X n
¥ =a+bx (6.16)
X, Y
1. Xo (6.16)
Y ¥ Xq Y, ¥,
2 Xq Y, ¥, a bX Y, athX+e
¥ Y
(¥,-Yo)
N[O, s (1 s o )2)] Yo 1-a
n S(x - X)
1 (XO'X)Z
+ +
LR Jl N S(x, - X)
X x n (%,-Yy) N
S) Yo 1-
¥ottyn S,
Y Xo
=0.05 Y, 95 =0.01 Y, 99
¥,£28,
a=0.01 Y, 99%



¥, £33,

6.6 6.2 1981 1985

4.5
6.7 Y X

¥ -460.5282 0.9840X

6.2 «
C ) C ) C ) C )
1964 698 1097 1973 1765 2286
1965 872 1284 1974 1762 2311
1966 988 1502 1975 1960 2003
1967 807 1394 1976 1902 2435
1968 738 1303 1977 2013 2625
1969 1025 1555 1978 2446 2948
1970 1316 1917 1979 2736 3155
1971 1539 2051 1980 2825 3372
1972 1561 2111
* 1975
6.7
(Dt S, 18348.9240
S, 0.0497 t,=b/S,=0.9840/0.0497=19.78
0.05 df 15 t t, o5 2.1310
t,=19.78>F; 45,,=2.1310
b t b
(QF f F 391.27 =0.05

Fo 0s(1 15) 4.54
F=391>F, s(1,15)=4.54

df,=1,df,=15  F

F

(3)D.W d d 2.0326 0 05
1 17 D.W d, 1.38
d,=2.62 D w

%) r’ 0.9631 1

S, 135.4582 0

y

d,=1.38<d=2.0326<4-



1585.4710 Sy/)_/:0.0854 10
1981 1985 4.5
95 6.3
X
6.3
() () ()
1981 3523.7 3006.83 2741.33— 3272.33
1982 3682.31 3162.86 2897.36 — 3428.36
1983 3848.01 3325.91 3060.41— 3591.41
1984 4021.17 3496.30 3230.80— 3761.80
1985 4202.13 3674.37 3408.87 — 3939.87
8§6.2.5
6.3
&)
¥ =ax®
@)
¥=a+_
1__.b
v x
(€))
= geb
b
¥ = aex
4)
$=a+blnX
(5)S
1

a+be”




6.4

( )
6.7
6.5
6.5 6.3 6.3
( )
b
$-a+_
X
6.4
Y'=a+bX’'
X'= i 6.8 6.8
=3 ] )
Yy X
1
¥ = 250.7848 + 35545705~
6.4
YY) XH(X)
¥ =ax” Y'zlny  X’=InX Y’ =atbX’ a=d  b=b
R ; 1 Y'=a+bX’ a=al =b
=at Y’ = X'= X
1 1 1 Y’ =a+bX’ a=a by
\$ :a+; Y'= Y X'= X
¥ =gl Y'=lny  X'=X Y’ =lnat+bX’ a=a  b=b
b 1 —_ } ! — tl
$_aex 1 Y’ =+lnabX a=e’ =b
y=any x=X
¥ =atbinX Y=y  X'=InX Y’ =+abX’ a=d  b=b
1 1 Y’ =+abX’ a=a b’
\$: a+be-x Y':Y X’:e_x




6.5

7)) ) 7)) )
1987 1 346.23 4300 1987 9 310.82 6024
2 343.34 4004 10 306.83 6194
3 327.46 4300 11 305.11 7558
4 313.27 5016 12 300.71 7381
5 310.75 5511 1988 1 306.84 6950
6 307.61 5648 2 303.44 6471
7 314.56 5876 3 298.03 6354
8 305.72 6651 4 296.21 8000
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§6.3

§6.3.1
Y k
Y=byt+bX;+b,X,+  +b X te (6.17)
Y X X X, b,,b,, ,b,
X1 Xos 2 Xk
Y X n
bo.by, .0y bo.by, .y
Y=Db,+bX+b,X,+ +bX, +e (6.18)
¥ =byth X +b, Xt +byX, (6.19)
§ 6.3.2
(6.17) bo.by, ,by YO X, X, XN
Q=S(y, - ﬁ.)z Yi ﬁi (6.19)
k (6.20)
&0 & &
_ & u _ €p, u _&,u
YEemi  BTewd et
glnu gjku &nu
él X1 Xp Xlkl;l
X = ol Xa1 Xa XZKE
MM M Mg
él an Xn2 erg
(6.18)
Y=XB+e
B
B=(X"X)" X"y (6.22)

e2=e'e=(Y-XB)'(Y-XB)=(Y"-B'X")(Y-XB)=Y'Y-B'X'Y-Y'XB+B'X'XB=Y'Y-2B'X'Y +B'XB
B'X'Y Y'XB Ix1 B'X'Y)=Y'XB, Y'XB=B’X"Y



X’ X X1 (X%
b;3=1,2, ,K)

X;(=1,2, .k) Y
§ 6.3.3
1.
t n-k-1
t
2.
(t ) (F )
t
H, b,;=b,= =b,=0
H bj 0 j=1,2, ,k
F
_ S($-9)°/k
F‘sw-@zln-k-l (6.23)
df,=k,df,=n-k-1 F
Fa
F F,
|-|0
FEF,
|-|0
3 r?
RZ
RZ I,.2
S($- y)? S(y- $)2
re = 20 X)zrzl- b ?92 (624)
S(y-Y) S(y-Y)
R2
R? 1
RZ ( )RZ R2
X' XB=X"Y

X1 X2 X1=0.25X2



— S(y- $°/n- k-1

R =1- 6.2
S(y-y)?/n-1 (6.29)
ﬁZ RZ
R?=1- (1- R 1 (6.26)
- n- k-1 '
D W
§ 6.3.4
6.8 6.6
Y
Xl,X2!X3lX4 6.6
¥ =17.3973+00503X, +0.2551X , - 0.0040X , - 02432X,
(2.4002)(119004) (- 01162)(- 19.5454)
t
|th,]=0.1162<2 b, t bs
bs
Y
1. =0.05 df=15-3-1=11
t ty 95/,=2.2010
th,=3.5164>t, 45/,=2.2010
th,=13.2278>t, 45/,=2.2010
|th;]=20.5262>t, os,,=2.2010
t
2. F  645.4824
=0.05 df,=3 df, 11 F Fo 0s(3 11)=3.59
F=645.4824>F, ,-=3.59
F
3.D.W d d 2.0661
=0.05 n 15 k 3 D.W d, 0.82 d,

1.75 d, 1.75 d 2.0661 4-d,=2.25 D.W

t0.05/2=2



R 0.9944 R? 0.928

5,=0.4178
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1. 14
9.2 /
1
C 1) /) /)
1 2.8 6.7 8 4.8 9.8
2 2.8 6.9 9 4.9 10.6
3 3.0 7.2 10 52 10.7
4 2.9 7.3 11 54 11.1
5 3.4 8.4 12 55 11.8
6 3.9 8.8 13 6.2 12.1
7 4.0 9.1 14 7.0 12.4
2. 10
2
2
(%) (%)
) )
1 6 12.6 6 7 16.3
2 5 10.4 7 6 12.4
3 8 18.5 8 3 6.2
4 1 3.0 9 3 6.5
5 4 8.1 10 7 16.8
3.
12
3 ) 8
3 20
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(%) (%) (%) (%)

1 11 13 5 21 18

2 48 22 6 35 15

3 72 29 7 82 22

4 05 30 38 62 24
13



§7.1
1983 1 —1988 12
1978 —1989
§7.1.1
a
ao’ah 1an ( ) a0 an
( ) 1983 1
1988 12 1983 1
1988 12
1988
12 1983 12 1988 12
1983 12
+ + +a Sa.
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7 3 90 1 3 77
8 3 2 1 85
9 3 3 2 84
A B C
Ky 180 210 195
K, 210 225 237
Ky 246 201 204
K, 60 70 65
K, 70 75 79
K, 82 67 68
R 22 8 14
10.4 9 8 AB,C,
85 9 84 8
9 33
27 1/3
Kl KZ K3
Ky 1 ) 180 A 1 3
51 71 58 180 K, 3 ( ) 237
C 2 3 71 82 84 237
Kl K2 K3
3( ) K,
K, Kj
R A 22 82-60
10.4
A 3 3 82



C
2 C, C, 79 B
BZ
B, B, 5
13 13
5 B, B,
A3BZC2 A381C2
A3BZC2 A3BlC2
3 3 2
2% 8 Ly (23)
4 L,(2%) 10.5
10.5 L,(2%)
1 2 3
1 1 1 1
2 1 2 2
3 2 1 2
4 2 2 1
3 2
8 8
4 ( ) 8
2 12 1
8 4 AB AC BC
4
4 ( A181C2) 3
(AlBlcl A281C2 AlBZCZ) 3
3
10.1



60 75 90
85 95
§ 10.2.3
1.
10.2
5
5
4 4 2
8 10.6
8
0

L8(41x 2%

3
55 65 75
1
Le(4*x 2%)
100

A;B,C,D,E,



AsB,CiD1Ey

2. 10.2
10.3
1 4
Le(4'x 2%) ( 10.7)
10.6
A B C D E
()
1 1 A B, 2 G, D, 1 E 30
2 3 A B, 2 2 D, 1 50
3 |2 A 2 22 E, 90
4 4 A 1 2 1 2 60
5 1 2 1 C1 1 2 55
6 3 1 1 2 2 10
7 2 1 1 1 1 70
8 4 2 1 2 1 85
Ky 85 170 230 235 235 =450
K, 160 280 220 215 215
Kg 60
Ky 145
R 100 110 10 20 20
10.7
A,B,C,D,E,
A,B,C,D,E,
§ 10.2.4
70

80



10.7

A B C D E
PH CacCl,

1 1 7—8 1 2 Na,COg4 2 1
2 3 9—10 2 1

3 2 8—/9 2 2 2 2
4 4 10—11 1 2 1 2
5 1 2 1 NaOH 1 2
6 3 1 1 2 2
7 2 1 1 1 1
8 4 2 1 2 1

(
Xl XZ Y: 1+X2
2
« I)
1 0.72 1.36 80 1.04 8
2 0.52 0.90 540 0.71 5
3 0.80 0.96 515 0.88 7
4 0.60 1.00 630 0.80 6
5 0.53 0.42 465 0.48 4
6 0.21 0.42 290 0.32 2
7 0.30 0.52 375 0.40 3
8 0.13 0.40 1100 0.27 1
) )
) (
(
(
( )




10.2

20x (1 30 )
98—121

) 28—52

(
Xn
n X1 X
X1 X Xn
220
A 10.2
10.2
115
10
30
14—26
A, 40
A, 40
115
) (
)
SZ
L=A ’ F
A
D

Xy X3

115

A, 20

40 x (1 30

122—127

(101)



10.4
150 D=3mm 20
20 ( mmy)
0.3 0.6 -0.5 -0.2 0.0 1.0 1.2 0.8 -0.6 0.9
0.0 0.2 0.8 1.1-0.5-0.2 0.0 0.3 0.8 1.3

20
gO
a (Xi - m)2
2 _ i=1
S = 20
(032 +(06)* + +(13)?
- 20
= 04795(mm)?
(10.1)
47
L=150x 2 3295 =7.99( )
7.99
Y 2
SS =a(x;-m
i=1
=(03*+(06)°+ +(13)* =959
go
SS —g X- m? = 20(X 2—20‘—6!:(—i 20 m,
A = i:l( m° =20(X- m* =20( 20 20 )
<2)0
ax.-200 m
- i=1 2
‘:KX(_____EET____)
_ (Xl'”)+(X2"’®+ +(X20'r®20
03+06+ +13
=20( 20 )2 =266

$S:=55,-55,=9.59-2.66=6.93
10.8



10.8

F
SS, 2.66 1 2.66 7.29
S& 6.93 19 0.365
SS; 9.59 20 0.4795
a 0.05 Fo 05(1,19)=4.38 F=7.29 F, ;s(1
19)=4.38
X M
X My
0.365
L=150" —5—=608( )
7.99-

6.08=1.91( )

1.91



I+

§ 10.3.1
2
1.
(Method)
2.

§ 10.3

(Man) (Machine)
(Measurement)

X
-

x;=mre;,e; N(0,s?)
X (”152)
X;Emt3s

500
5M1E
(Material)
(Enviroument)
)
X M
99.73 X

99.73



1
3s ( )
M 3
( )
1
3.
(Process
Capability Analysis) Cp
- T
C. = = —
P 6s 6s
Co T
500 £2
502 498 4 66
6
Cp
Cp
Co
Cp Cp 10.9
10.9
Cp
Cp 1.67
1.672C, 1.33 A
1.33> CIO 1.00 B
1.00= Cp 0.67 C
0.67= Cp D




8 10.3.2
30
1.
(X—R)
(X—R) (X—R) (G—H)
10.5 30
X—R 10.10
10.10 X—R
1988 6 1 —6 30
X X X
X X X

X R
6.1 1 92.2 91.7 96.8 93.57 5.1
2 2 96.5 98.4 96.8 97.23 1.9
3 3 99.5 92.4 99.2 97.00 7.2
4 4 93.5 98.7 90.2 97.13 8.5
5 5 92.2 95.7 95.1 94.33 35
6 6 96.1 90.9 94.3 93.77 5.2
7 7 99.5 90.6 95.8 95.30 8.9
(¢)) 100
)

3—5
3

(©)) X 6 1



4)

®)
(6)

Q)

_922+917 +968

= 9357
3

X

0357 +97.23+ + 9570+ 94.93
30

x|

B2 _
- 30
R 6 1

R=96.8-91.7=5.1

51+19+ +76+45
30

R=

1556 c187
30 7

(CL) = x = 94.70
(UCL) = x+35 -

=x +A,R
=94.70+1023" 5187
=100.046
(LCL)=x 3s,
=x- A,R
=94.70- 1023 5187
=89434
(CL) =R =5187
(UCL) =R +3s
=D,R
2575" 5187
= 13357
(LCL) =R- 3s,
=D,

pe]

D; D, n 10.11



10.11

n A, D, D,
2 1.880 — 3.267
3 1.023 — 2.275
4 0.729 — 2.282
5 0.577 — 2.115
6 0.483 — 2.004
7 0.419 0.076 1.924
8 0.373 0.136 1.864
Dy n< 6 0
(3) X R X R
X R 10.3
X R
10.3 X—R
®
X R
10.3
7
X —R X —R
2.
p
10.6
740 25
10.12
®
€D 20—25
n P P n
P n n 50 nP 5
nP 50 n
70

) P



48

p= ﬁ = 0066
€©)) P n
p=—m o071
P=18533 ™~
18533
n= —25 =741
4)
(CL)=p=0.071
(UCL)=p+3 p(l-p)/n
= 0071+3- (00094)
= 0099
(LCL)=p- 3 Jf)(l- p)/n
=0071- 3- (0.0094)
=0043
(5) 10.3
P n;
UCL; =p+3- p(1-P)/n,
LCL, =P- 3 /B P)/n,
n
3.
A J
10.7 10
3,2,0,5,4,6,0,7,7,6
€ )
Sc 40
(€)) (CL)—C—?—1—0—4

€

10



P(

(UCL) =t +3\/c

=4+3/4
=10
(LCL)=c-3/c
=4- 3/4
=0
€©)) 10.3
€))
@
(3)Xx—R R
X R
(@))
§ 10.3.3
1.
€))
@
10.13
2
(
( )
0.9973-0.9545=0.0428 3
3 2 20 30 )= C2(00428)?(0.9545)*
= 0.0052 = 052%
10.13
2.

€y



10.4

10.4
@) (Juran)
(Pareto)
10.14
10.5
10.14 10.5
10.14
1. 42 47
2. 28 32
3. 7 8
4. 4 4
5. 2 2
6. 6 ’
89 100
10.5
79
10.15
A B
28 A 24 4 (
10.6A) A
A 24 ( 10.6B(c)) 24
A
10.6B(b) 21
2 1



10.15

1. 2% 28=56 56 48
2. 1x 42=42 98 84
3. 2% 4=8 106 91
4. Ix 7=7 113 97
5. 0.8x 2=1.6 114.6 98
6. 0.4x 6=2.4 117 100

117 — —

10.6



d

0

§ 10.4.1

D=NP

500

§ 10.4

)
n( )
c( )
d c
10.7
10.7
(100 5 0) (500 25 0)
P
n d< c
c;: Cd_ Cn-d
Pdfc) =g ———° (103)
a0 Cy
P=0.05 100 D=100x 0.05=5

0 50

ct. C
P(d £ 0) :%:0.77

500

D 500x 0.05=25 d=0

CO . C25—0
P(d£0) =—2—->>%2 =029
CSOO
N n
P nP
N 1000 P=0.04 (1000



1 ~d 0-d
] C4o' C1000-40

PAED =8

a0 Ciow
_Cyr C¥  Ch C¥
Cioo Cioo
= 06603
N _0.03 0.10

N
1

P£1) =8 CP(1- P)™*
d=0

= CJ,(0.04)°(096)® + CL,(0.04)*(0.96)%°

= 06612
nP=1.2
1 I’]P d
gy =4 e
d=0 d
(]_2)0 1 (12)* ’
= +
0o 1 °
= 06626
3. (oc ) (N n o©)
L(P) (1000 30 1)
10.16
10.16
P nP L P
0.0 0.6 0.879
0.0 1.2 0.661
0.06 1.8 0.455
0.08 2.4 0.296
0.10 3.0 0.184
0.12 3.6 0.110
0.14 4.2 0.064
0.16 4.8 0.036
0.18 5.4 0.020
0.20 6.0 0.011
10.16 10.8
10.8 (1000,30,1)



a 5 1

a PO
(AcceptableQualitylLevel AQL)
a=1- L(AQL)
¢ (nP,)*
-1- 8 @e "y (10.4)
< d
P Po
“ "ooa
B
5 1 P
B P=P1
(LotTOlerancePercentDefective LTPD)
¢ (nP)¢
b=L(LTPD) =& &) ¢ (105)
d=0
a B
P< P,
a P> P1 B
c Pb P, o B 4
§ (nR)?
il-a=L(AQL)=a e™
% eo d
. ¢ (nP,)¢
Ih=LtPD)=§ Tl gm
t a0 d
Po P, a B n c,
c
5.
| P



c d c d
=0 § P iy § e
d=0 d d=0
S d
=N- (N- 08 5 U2
_ °( nP)°
=n+(N-n)- (N- n)a r
$ ( P)d
=n+(N- n)(1- a ) (106)
[
n N
| n N
I=nL(P)+N(1-L(P) (10.7)
I P
L(P) 1-L(P) I N o
1 P
(Average Outgoing Quality
AOQ)
NP- IP
AOQ N
Nt
N
P -
@)= (v- - 8 e )
=P N
__N- ng (nﬁ)d - nP
=P N da:_O r e (10.7)
Q
N n
N,;I” 1 AOQ=P L(P)
P L(P) P L(P) AOQ
§ 10.4.2
1.
4 ny n, C,

c, 10.9



P(d.< Cy) P(d, d,<cy)
d2 0 1 CZ_Cl_l

d1:C1+2 d2 0 1 CZ_Cl_Z

10.9
L(P)=P(d, £c,)+P(d, +d, £c,,c, <d, £c,)

_ 5P, & (0P

p
d;=0 dl dy=¢; +1 dl
_ [éil(T;Fﬁdz
d,=0 Y3
10.9 (1000 36 59 0 3)  P=0.01

N 1000 n,=36 n,=59 P=0.01 n,P=0.36

P (108)

n,P=0.59

s (036)° ¢ (036)™
L(P) - a ( ) e-0.36 +a ( ) e-0.36

d; =0 0 d;=1 d1

%% (059)d
(2059,

e— O.%]
d,=0 dz
=0.6980+0.2893=0.9873
3.
|
I = n, P(dl £ Cl) +(n1 + nz)' P(Cl < d1 £ CZ’dl +d2 £ Cz)

+N(1- L(P)) (109)
ny
P(di= c,) (ny+ny) P(c, di=c,
d,+d,< c,) N 1
10.9 (1000 36 59 0 3) P=0.01 I
(10.9)
1=36(0.698)+(36+59) (0. 2983)+1000(0.0127)
=65.31
|
AOQ:PN—'1 (1010)



10.9

1000- 6531
AOQ=001———=
OQ=001""500
= 00093
§ 10.4.3
P=P,
1-a P=P,
a P=P,
1-B P=P,
B A B
b 1- b
A=—— B=—— (10.11)
-a a
A B
1
d,=0 d 1
10
d =i
11
P“(1- P)1-d
L, =— d-R)i-d, (1012)
P,%(1- P)1- d,
P (1-P)T Py dy
P (1-Pp) "1 Po dy
1- P,
d 0 Li=1 )
P
1 d,= =
1 Ll PO
L,< A P



P

:Pl

_ Pld1+d2 (1' P1)2' dl' dz

2 P (1- P)2- d,

2 2
Ra d (1- P)2- ad,
i=1 i=1

_d2

-7 2 2
Rad(1-R)2-ad
i=1 i=1
A B AL B 3
( )
Pabu.Pm ad
— i=1
Ln
Poa (1' Po)n' a di
i=1 i=1
1- P)"
" L ( 1)n
(1' Po)
L, 0 L, 00
1
n
PSd (1- P)™ &d.
1S, ( 1)n_5d| £A
PoSdi(l' Po) Sdi
P
S, Iog—+(n S, )Iog £ logA
P, 1- R,
, (Iog— Iog )£IogA nlog
P, 1- P
nlo 1- A
o logA 97 P
g logi P jogP o P
Op - N917p Np %,a
log1-2 lo -
o e
l Ioﬂlo "R S_Ioilolp1
99 %91 R g STy

(1013)

(1014)

Py

(1015)

(1016)



Sd;£-h,+sn

1- b
9
h, :Io L (10.17)
99 " M1 p,
Sd;3 h,+sn 10.10
10.10
10.10 P,=0.02 P,
0.20 a=0.05 B 0.10
b 01 1-b 09
A=——=—=01 B=——=——=1
1-a 095 0109 a 005 8
logA =-09776  logB =12553
P, 1- P, 080
log===1 lo L = Jog— =-0.0881
9P 97 R ~'%0os
1 1- a 1- P, 098
log— =log——= 09777 | = = 00881
A =9 917p "' %080
S L — 08985 h -—35¥§§§—-11536
17 1-(-0088) 2710881
00881
=———— =0081
=1 (-0o0ssy) ~ 20810
( )d,=1.1536+0.081- n

( )d,=-0.8985+0.081 n



1. 1
1
A B C D
() C ) (mm)
1 1000 10 0.3
2 1200 13 0.35
4 Ax B Ax C Bx C
@ Ls(2")
) A B COD Le(27) 12 47 Ax B A
xC BxC 356 0.82 0.85 0.70
0.75 0.74 0.79 0.80 0.87
2.
3.
4. 2 X—R
5. (30 50 1 3) P=0.05 ASN
6. (1000 30 50 1 3) P 0.05 I
7 P,=0.02 P,=0.10 a =0.01

B =0.05



11

§ 11.1
§11.1.1
(
1.
11.1 10000 5
50 4
HozP( )< 0.05 Hy :P( )>0.05
(
A={a=(a;,a,):a a
A a,
11.2
q q
11.1
11.1
q 0,=0.01 0,=0.02 05=0.03 g,=0.04
q P(Q) 0.2 0.4 0.3 0.1
2 20
1
a4 8y
A={a;,a,} 2
3 n
2 (
) = {g} u 6
0 ]
11.1 q P( )

m={q 0<6<1} [0 1] 11.2 =



{%,9,09;,9} (

3. 0
a
L(® a) 0
0
( )
0
( )
11.1 0—1
Ho H,
0 1
11.1
11.2 11.2
11.2 (
a)
g,=0.01 0,=0.02 03=0.03 g,=0.04
& -6000 -2000 2000 6000
2% 0 0 0 0
11.2 0
=20000x g;*x 20-10000
0,=0.01 6000 0,=0.02 2000
0;=0.03 2000 g, 0.04 6000
q; 0.025
11.1

§11.1.2



18

25

11.2



§ 11.2

§11.2.1
E(a)=a X, P@,) (119
=1
E(a;) i ( ) Xij
i P(q;) i
m
11.2 11.1 11.2
11.3

E(a,)=(-6000)(0.2)+(-2000)(0.4)
+(2000) (0.3)+(6000)(0.1)=-800( )
E(a,)=(0)(0.2)+(0)(0-4)+(0)(0.3)+(0)(0-1)=0( )

11.3

0
q;=0.01 0,=0.02 03=0.03 q,=0.04
p(g;)=0.2 p(a,)=0.4 p(d3)=0.3 p(a,)=0.1
aq( —6000 —2000 2000 6000
a, 0 0 0 0

800

§11.2.2
11.2

= - (112)

11.3



S

:(O) X

(0.2)+(0) (0.4)+(2000) (0.3)+(6000) (0.1)=1200( )

=1200- 0=1200( )

6 0.01
0 0 0.02
-2000( ) 0( )
0.03 68 0.04
4
4
( )
8§ 11.2.3
1.
0.3 0.7 11.4
11.4 (
P(g)
al a2
01 0.3 200 50
92 0.7 —50 10
25 22

11.4



200

0.25

E(a)=(200)(0.75)+(~100)(0.25)=125( )

100
100
8§ 11.2.4
1.
4
11.1
-800

100
0.75
100 20
2000
200
11.2
2
4
0

100

11.1



0.6

11.3

0.4
0.3 ( )
100 6
85 3
140
80
120
140
9
80
0.4
¢ )
11.2
11.2
11.2

(1[(100)(0.4)-6]+[120(0.4)-6]=76( )
(2)[100(0.4)-6]+[80(0.4)-6-40(0.3)]=48( )
(3)[100(0.4)-6]+[140(0.4)-9]=81( )
(4)[100(0.4)-6]+[80(0.4)-9-60(0.3)]=39( )
(5)[80(0.4)-6-20(0.3)]+[120(0.4)-6]=62( )
(6)[80(0.4)-6-20(0.3)]+[80(0.4)-6-40(0.3)]=34( )
(7[85(0.4)-3]+[100(0.4)-6]=65( )
(8)31+[80(0.4)-6-20(0.3)]=51( )
(9)31+[80(0.4)-3]=60( )
(10)[80(0.4)-3-5(0.3)]+[80(0.4)-3]=56.5( )

59.2 11.3



11.3



§ 11.3

( )
11.4 3
¢y @) €)
4 €y
) €))
4 3 4
11.5
11.5 ( )
80 40 -30 -70
55 37 -15 -40
31 31 9 -1
§ 11.3.1 ( )
3 70 40
1 1 1
§ 11.3.2 ( )
3
80 55 31 80 80
§ 11.3.3 ( )
a (0<ac<1)
= Ta+ " (1- a) (113)
a a 1 0
a 0.5
0.7( ) 3 3 1(



§ 11.3.4
80

80 31

¢ ) 49 11.5 11.5
11.6

11.6 )

0 39 69 69

25 24 39 39

49 0 0 49

11.6 39 "
4



§ 3.3

§ 11.4.1

~| =

§ 11.4

(Prior Probability)

11.2

k

G |a % o

ey | L1 1
200



m= WX + W, m, (114)

M X Ho
W, W, X m W, +W,=1 n® ¥ w,®1 W,®0
n
8§ 11.4.2
11.5 A B
A B
B 50000
11.7
11.7 A
B
P q
di q
20000 0.4 0.3 900 1200
25000 0.5 0.5 1500 1500
30000 0.6 0.2 2200 1800

900x% 0.3+1500% 0.5+2200x 0.2=1460( )
1200x 0.3+1500% 0.5+1800x 0.2=1470( )

B
B 50000 25 A
14
X
P(q.)P(X|g
Pa 1X) = (@)P(X]g) (115
c_"::ll P(q;) P(Xq;)
P(q; 1%) X P(a;)
P(X1q) q 0.4 0.5 0.6 25

14



P(X|g, = 04) = CX(04)* (0.6)" = 00434

P(X|g, =05) = C,¢(05" (05" = 01328

P(X|q, = 0.6) = C}(0.6)* (0.4)"* = 01465
3

P(q; )P(X|q;
Pl [x) =_P@PXIA)

a P(q,) P(Xd;)

_ (03)- (0.0434)
~ (0.3)(0.0434) + (05)(01328) + (0.2)(0.1465)
= 01197

P(q,|X) = 06108
P(q,|X) = 02659

900x 0.1197+1500x 0.6108+2200% 0.2695=1617( )
1200x 0.1197+1500% 0.6108+1800x 0.2695=1545( )

25
14
14 — =0. -
= 056 0.56
0.56
P(a;) P(q; IX)
0,=0.4 0.3 0.1197 @,=0.5 0.5
0.6108 ,=0.6 0.2 0.2695

0.56 ©,=0.5 0, 0.6 0 ,=0.4




20 2

1. 3
1

1

A 60 300

B 90 200

C 120 150

4000 7000 10000
0.3 0.5 0.2 750
€))
@)
)
4) " no noo "
2.
0.50
0.40 0.60
0.80 0.20
0.10 0.90
500 100
10

3. 11.2



12

§2.1

§12.1.1

1936



1953

” 15
1968
(A System of National Accounts SNA) SNA
SNA
SNA
8NA
1986 SNA
SNA
SNA 40
§2.1.2
SNA
3



SNA (
MPS)

A System of National Accounts
Accounts National Accounts



§ 12.2

” ( MPS) 1]
1981

144
10

ctv+m

V+M

@



)

11
Qo
('Dﬂag
1

=v+m

(ctv+m)-c=v+m

Q-0



®



@



( )
(a) = %1( )i
n ( )
(b) = - '
( 1975 )
( 1975 )
1975
1975
=34
&)
( )
(

®



4)



®)

018



§ 12.3

§ 12.3.1
12.1
12.1
1 A 103 A
103 103 12.1
B 20 C 45 33(
10 10
3) 103
12.1
103 A 103 A
3 30 E
70( 40
15 10 5) 100
( )
12.1
A B C
A 0 20 45 10 10 10 3 5 103
B 30 0 30 95 20 10 10 10| 205
C 0 80 0 20 10 28 10 6 154
40 50 42
15 25 16
10 15 11
5 10 6
3 5 4
103 205 154
12.2
A 70
B 100
C 75

245




12.2 12.3

10.1 12.2
12.1 1 100 30
12.3
132. A B C (132 40
50 42)
(125=10 95 20)
12.3
132 125
56 40
36 48
21 23
21
12
245 245
§12.3.2
12.1
( 2 5 2)
A 10 10 10 3 2 35
( )
(  12.4)
12.4
12.4
A B C
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